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Model Comparison Tests Based on Deviance ( See
.

4. 4.2 -
- General GLM 3.4.9 )

Ho : Reduced model Mr

Ha : Full model Me

MR is nested within MF → Can obtain Mr

by setting a subset of coefs.in Me to zero
.

likeh test :
maximized

✓ log-likelihood

Statistic = -2 [ LR - Lp ] assuming

((RT) y
full model

maximized)ÑÉli hood
assuming reduced model

= -2 ( Lr - Ls ] - [ -2cL ⇐
- Ls]]
-

(-
↳ Deviance for

"saturated model
"

full model
= perfect fit

R:_ Anova (Mr,MF)
( Residual) Deviance
for reduced model

For normal linear models : residual deviance
= SSE

= Cosi - Jil
'



Guts for Count Data (Poisson Regression) Sec.3.3_

Response = Y - count # of
- -

e.g .

4= # of siblings
A-of atoms emitted from radioactive

source in 1 min .

# customers than arrive in 1 how .

GUI ① Distribution Crandon component)

Y ~ Pois (g) in
> 0

i.e.

P(4=y)={e→÷s y=o, :3 . -

0 else

② Link function : gµ= login
③ Systematic component : N= a-pixit - PKXK

Model : login = dtpix , + .
- tpéxk

where Y - Poislr)

Properties of Poisson distribution : 4~pois.ly)

① C-(4) =p

② Vali)= µ ⇒ SD (4) = if



If in observed data , variance > mean

→ overdispersion
Whn this may occur ?

- unmeasured predictors .

Reality:
Group A : 4- Pois LMA)

Group B : if ~ Posters)

Interpreting :

atbx atbtxtl) atbx b

ri = e e = e - e

e-
multiplicative effect

of ✗ increasing by 1min

or i


